T radius lwcmbyan arcof the length 22 cm (Use 1= 22/7)

Lovi’dhn

EXAMINATION (201 7-1 8)-
: MTHEMATlCS

MAXIMUM MARKS -

0] QNO 1 1
(i) QNO 7mi2G
i) QNI13w20cany &
(iv)— QNO21 w25 cany 6

Let A = fx w2l

The Cartesiam § | Be= ® semertss zrong wech e fowee - 1D
and (o0,l). Fa Se= A e mg clement of AXA

A= "k N B= 2468 Find A-B and B-A

ﬁ-um-l-ul sin(- =5

3

0 DR e k. ........oe ([}l ~ COS A= .o.viuuisssanisneenns
@G +Cosh =___... ... (i) l +Cos2A = ......cccviviiian
Find the degree measure of the angle subtended at the centre of a circle of

Find the domain and range of the real function f(x)= Vx—1

Draw the graph of f(x) = [x - 1]. Find the domain and range of the function.

(5x-2) _ (7x-3)
3 5

Solve the inequalities for real x, ; <

If the sum of a certain number of terms of the A.P. 25,22, 19,...ccccvvvvvninans is116.
Find the last term.

If A. M and G.M. of two positive numbers a and b are 10 and 8, respectively, find the
numbers.

Let S be the sum, P the product and R the sum of reciprocals of n terms ina
C.P. Prove that -

PR = s
OR SRSt B “

If aand b are the roots of x2— 3x+p =0 anac,d are roots of x%— 12x+q = U,
where A, b, ¢, d form a G.P. prove that (g+P:x(g-p)=17:15,

@  Prove that -s%';-x;:—%:-‘;; = 2Sinx

(b) mat (Cosx +Cosy) + (Sinx-siny)l = 4Cos’?
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13,

16.

17.

18.

19.

20.

22.

23.

24,

25,

Prove by using the principle of mathematical Induction

1.24 2.2 4 3.28% ... vunsaritill +n.2"=(n-1)2""+2
OR
1 1 2n
1+ (142) (1+2+3) B kT St ?‘#'(1+2+3+--'- ................ +n) = A
If gy is the A.M. between a and b ,then find the value of n.

al’l.-l + pn—1

(a) Find the principal and general solutions of the équation , Cosecx = -2
W~ Solve 2Cos’™x +3Sinx=0

n (n+1)(Zn+1)

Prove that, C124 28ah 3% dbiciinres dorssasssnanrsonsss s +n= s

- OR
Find-the sum to n terms of the series
121220+ (12 ¢ 22 + 3%) 4+ 4048, . Jotumeses

cos X = - %, x in quadrant Wl , find sinZ , CosZ, and tanZ

iﬁ”( Find all pairs of consecutive even positive integers , both of which are larger
than 5 such that their sum is less than 23.

(b) Isit true that for ariy sets A and B, P(A) UP(B) = P(A U B)? Justify your
answer with example.

I e e

' OR
Find the sum to n terms of the series, B +.66+ .666+ .
Prove that, Cos?x + CosZ(x +§)+ Cos? (x - E ) = %

Prove by using the principle of Mathematical Induction,
n(n+1)(n+5) is a multiple of 3

OR
Prove by using the principle of mathematical induction,
327+2 _8n - 9 s divisible by 8.

#&  Find the domain and range of the function, f(x) = Vv9-—1x

(b) Let f={(1,1),(2,3),(0,-1), (-1, -3)}be afunction from Z to Z defined
by f(x)= ax +b,for some integers a ,b. Determine a,b.

(a) In a survey of 60 people , it was found that 25 people read newspaper H, 26
read newspaper T, 26 read newspaper |, 9 read both H and |, 11 read both
Hand T , 8 read both T and |, 3 read all three newspapers. Find the
number of people who read at least one of the newspapers.

9

w
(b) Prove that, 2Cosﬁ Cos ==

3n Sm
+C_os;§ +Cos;§ = 0.
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